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P 100kN/m%E#8z5 | 1.00 | 000 ~ 1.27| 11921 |3mZz#Bz3| — ~ — — — | 100kN/m%#82% | .00 | 1205 ~ 1874 119.21 |3m%E#BZ5 - ~ — — —
Thilst 100|127 ~ 9.05| 100.00| #nbst | 000 ~ 905|213 10.77 Thilst 1.00 | 500 ~ 1205 100.00 | Tnbst | .00 ~ 1874| 2.13 10.77
2 100kN/m%E#B25| 1.00| 000 ~ 1.68| 12568 |3mz#B25| — ~ — — — | 100kN/mM%x#%25 | 1.00 | 1252 ~ 2568 12568 |3mE#BZb - ~ — — —
FhLst 1.00 | 1.68 ~ 9.46 100.00 | #hsy | 000 ~ 946\ 2.70 13.66 st 1.00 | 6.00 ~ 1252 100.00 | #hsy | 6.00 ~ 2568|270 13.66
3 100kN/m%E#25 | 1.00| 000 ~ 297\ 14716 |3mZz#B25| — ~ — — — | 100kN/mM%x#%25 | 1.00 | 1062 ~ 2889 14716 |3mE#BZ5 - ~ — — —
FhLst 1.00 | 297 ~ 17| 100.00 | TnRSY | 0.00 ~ 1075 2.96 14.95 st 1.00 | 6.00 ~ 1062| 100.00| FnLS | 6.00 ~ 2889| 2.96 14.95
4 100kN/m%E#25| 1.00| 000 ~ 067 10992 |3mx#B2E| — ~ — — — | 100kN/mM%&#z25% | 1.00 | 1086 ~ 1276 109.92 |3mE#BZD - ~ — — —
s 1.00 | 0.67 ~ 845 100.00 | =nLsy | 000 ~ 845|232 11.73 ThList 1.00 | 5.00 ~ 1086 100.00 | =nhst | 6.00 ~ 1276 2.32 11.73
5 100kN/m%E#8z5 | 1.00 | 000 ~ 1.72| 12632 |3mZz#Bz5| — ~ — — — | 100kN/m%#82% | .00 | 1062 ~ 17.09| 126.32 |3m&E#BZ5 - ~ — — —
s 1.00 | 1.72 ~ 950 100.00 | =nLst | 0.o0 ~ 950\ 2.30 11.65 ThList 1.00 | 5.00 ~ 1062 100.00 | =nhst | 6.00 ~ 1709 2.30 11.65
P 100kN/m%E#8z5 | 1.00 | 000 ~ 1.93| 129.82 |3mZz#Bz3| — ~ — — — | 100kN/m%#8Z2% | .00 | 10.78 ~ 19.13| 129.82 |3m%E#BZ 5% - ~ — — —
FhLst 1.00 | 1.935 ~ 9.72 100.00 | #hsy | 000 ~ 9.72| 2.26 11.44 FhLst 1.00 | 6.00 ~ 1078 100.00 | =hst | 6,00 ~ 1913 226 11.44
7 100kN/m%E#B25 | 1.00| 000 ~ 1.87| 12877 |3mZz#Bz5| — ~ — — — | 100kN/m%E#%25 | 1.00 | 11.61 ~ 2275 12877 |3mZE#BZb - ~ — — —
Thilst 100187 ~ 965 100.00| #nLS | 000 ~ 9.65| 247 12.46 Thilst 1.00 | 5.00 ~ 1161 100.00 | FnLS | 5.00 ~ 2275| 247 12.46
P 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
Thilst 1.00 | 000 ~ 775 99.52 | #hst | 0oo ~ 775|211 10.68 FhLst 1.00 | .00 ~ 1056 99.52 | Fhst | 5,00 ~ 1056 2.11 10.68
9 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 6.12 76.80 | =ns | 0oo ~ 000 1.76 8.90 ThList 1.00 | 6.00 ~ 7.04 76.80 | TN | .00 ~ 7.04| 1.76 8.90
10 100kN/mM%#B2. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mMZE#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 526 65.62 | FnLSY | 000 ~ 526 1.90 9.69 ThList 1.00 | 5.00 ~ 6.00 65.62 | TSt | 6.00 ~ 6.00| 1.90 9.569
11 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/ Mm%z 5 — - ~ — —|3m%iBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 574 71.74 | TR | 000 ~ 0.00)| 1.74 8.81 FhLst 1.00 | 6.00 ~ 6.40 71.74 | =nSt | 6.00 ~ 640 1.74 881
19 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m#E{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.78 59.51 | =nst | 0oo ~ 000\ 1.72 8.71 ThLst 1.00 | 6.00 ~ 5.00 59.561 | #hst | 6,00 ~ 600 1.72 871
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




